Y ERO75C.t2k DSSP-EHL 2

2

1 —

Cocritettii, Fe.. . FE

MKDSVDCPSILPTDRTSVLSETSTLVGSSSHVYSRHAPMNSYHNSMNSNI

— N <t LO
L1 | |l | 19 | N
G H E E T E S E
2
EEEEEQ: EE_ = S O OO, Hmn
YHSPKASSPLVSYKTSSPVLLKRATAPVLPSFKPKEQRYNKPQGCSLITA
LO LO l\ OD @ 8
| | L1 =
E S E
2
1 —___
__F: tftffttii}gi CI}Iiixj Fixfkfrrrrﬁk
P F— p @ —
&ELGKIIET%PDEKVLLLDVRPFTEHAKSBITNSIHVCLPSTLLRRKNFT
o H N ™ <
= | = U o | =101 19 | L L=
T T H T S E T S E

I - 717 i—i_ﬂggﬁ

ESKLLdNLTgSEQSVLKSKéAIDNLRIIIYDSTANQTESSVSLPCYGIAS

Ln O N~ (o)) O

ERNENEN N o Ll = =N | <

H GH TH H HE H T H

2

1

I

7l < = - —r— = o 3 & . e = & — weaa _ = G —

SLIEFDTNVgKTVSILMCGFPQFKILFPDHINTNTFNSDCISSAEPKSPK

o — (40] LO

<] & | L1 | LS 1S i
E H T H H

VLS
3 \—| ﬁ' LO
8 L & & AL | 3 s
T EHE H
2
" HHHL
lll — e 2 X —C e C X (&
ﬁlKEEHERWYNNDSAKKSL8NFQFPKNQNSLEKDTNKDKLGFQIRYENL%
o @ [ & | L% & S
T H

— | - - . A == 5 & 5 &
KNYEKEVI DSVI PE FQHLMSIPKIELVSgFQKLDFLEKRRL HSVSFRK
— o o o O
o — N ™ < L0
| < | < | < < | Ll <
H H T

2

1

r L LL
C X o, J, ll N ap _
SENSFILEKPSSYPEQLTSTSSSTIMPPKEPDVNKVQKR%HSQPIFTQY%
Lo O [o0] O
| L~ 9 | g | LS Ll 3
T H TH T T
2
1
. R OO A SO0
SYKSMLSLESDSDSESDDVIISSGVELGAKNRYKDIFPYEHSRVILKKG%
< LO
I W I I I I} N £
H H H E H H H ST E

L e LLLLLLLY -t--
ELLCECoe . MTTHTITH Ol e o coooe
EY ATQAPMPSTVHDFYTCILNNGVPLVL%LTNDFENGIEKCYRYWQEGg
o — N (40] <t
3 L] =] S 111 81 | L1 3 L LLE
S T H T E H T G ST
2
e
1 e e e o e ™
ot ISeo e e e s o NN G o
YNGIHVKLLEKKILKMPSTTSMRKNTMGTgNSSLYSAGVgGNSSNYSTDN
- 8 N~ (o)) O
q | S | o | L 118 ] | @ L S
SE H T T H T

lq& il(fffrﬁ;EFEEE‘EE@chTa{:oqE-----H:::

BNDNDNNNNNNNNSNIPVTAAACDDDDDDDDDAILIRQILLTYHDQEKPY
o — N ™ < LO
R Ll =] | N | R R L)L
H T E T T E T S E

2
-----_ —
; , ||||||| oo
ELLQIQVKNQPDLGTLLNPBSILQAINVKg IIDTLFARNYYQNDQLPTB
Lo O N~ [o0] O
o | = L L L= R N U LW 18
T T H T TS E

HHH oo HHT

LVHCSAGCGRTGTLCTIDSILSNFEMFEMLQKEFVKLKYPAKLFDPISWT
o | L I & % | 3| «
T S H T H

2
TLLLLY HENEEERERRREEEETY
1HI1TT yeccolINNNNNRRNRRNENANRR e
LNIF KERISMVQNINQFIEIYDCLLFYFE RLDDITERLDGDGSNKDNB
S | LS | | & & g | L_L_ |8
T H T E H

= ‘7(—11‘0:!:-:&71{}’%7&
SLSALI EQI EKLEI LQTFVDDKLKELPQ
3 | > | | LS |
H H




